If f(x) = x2 and g(x) = x + 1, then
f(f(9(2))) is

(A) 16
(C) 125

(B) 81
(D) 64
Find the centre and the radius of the
circle x2+y +8x + 10y -8 =0.
(A) Centre at (4 —5) and radius 7
(B) Centre at (4, 5) and radius 8
(C) Centre at (-4, —5) and radius 7
(D) Centre at (-4, 5) and radius 6
J-sin2 X —cos?
sin® x cos? x
(A) tanx— cotx +C
(B) tanx + cotx+ C

(C) tan x + cosec x + C
(D) —tanx +cotx + C

X dxi is equal to

. The statement “The line passing

through the points (4, 7, 8) and (2, 3, 4)
is parallel to the line passing through
the points (-1, -2, 1) and (1, 2, 5)” is
(A) False

(B) Cannot be determined

(C) True

(D) None of the above

In Class Xl of a school 40% of the
students study Mathematics and
30% study Biology. 10% of the
class study both Mathematics and
Biology. If a student is selected at
random from the class, find the
probability that he will be studying
Mathematics or Biology.

(A) 0.5 (B) 0.4
(C) 0.7 (D) 0.6

I sin® x = cos? x

FG

1. f(x) = x2 &0 g(x) = x + 1 eﬁﬂcgoo"

f(f(9(2))) 02T eNTOZE

(A) 16 (B) 81
(C) 125 (D) 64

. X+y?+8x+ 10y -8=0330

Feog, 22 & zs 553 B0 R0D.

- (A) (4,-5) se; éeod L) §,%,7

(B) (4, 5) 39, Beor, =) 8% 8
(C) (-4,-5) 39, Feow, RO 8%, 7

(D) (-4, 5) 8&, Beors, FO=) &%, 6

7 oaet . 0X 0 ARSI
| S™ X

(A) tanx— cotx+C
(B) tanx+cotx+C
(C) tan x + cosec x + C
(D) —tanx+cotx+C

. (4,7, 8) @20 (2, 3, 4) VoY SR

TOTB RN Beadodn (-1, -2, 1) &=
(1, 2, 5) POTINT DT TR BReNRdS
Beadny B ABINTI0BTONTOBT ” 02 TBewT
(A) 3%

(B) OFFOTINOIF D

(C) %

(D) 00O cdny@e Q)

. 20D TS0 XI BTRE0DE 40% T, RFTIED

RedB==Y, 553, 00T mwa@md woab 30%
QT @rmfo aewmmm eﬁd ovory]
a’mm@d SRS 10% é:)m ) QENTD
ness as’oa"o BemToR, DTBIR, eﬁd o0
mm@d Scm%omocs evipiag aasmh 22,
T @roﬁam e;eojo maazjd ewm riséé
@qs’a'm z%ewem,v wm BT 00T DREOT
Nozp’wsbeosoéod:m 50(33&)@0336

(A) 0.5 (B) 0.4

(C) 0.7 (D) 0.6
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6. Which of the following points is
equidistant from the points (1,2,3)

and (3, 2, -1) ?
(A) (2,1, 0) (B) (3,1, 3)
() (1,0,0.5)

7. Find the angle between two vectors
A andB with magnitudes' /3" and 2
respectively and satisfying the condition
A.B=46.
(A) /2

(C) n/4

(B) m
(D) n/3

8. The maximum value of Z = 3x + 4y

subjected to constraints x + y < 4, x > 0
andy>0is

(A) 14
(B) 16
(C) 12
(D) None of the above
9. What is the ratio in which the line

segment joining the points (4, 8, 10)
and (6, 10, —8) is divided by the YZ

plane ?
(A) 1/3 (B) 2/3
(C) —1/3 (D) -2/3

10. A park is laid out in the shape of a
trapezium and fenced all around.
If the area of the park is 450 sqm
and the perpendicular height of the
trapezium shape is 12 m and also
one of the parallel sides is 50%
more than the other, the length of
the fence on the shorter one of the
parallel sides of the park is
(A) 36 m (B) 40m

(C) 25 m (D) 30 m

FG
M
i
6. 83 PN 0dns wordw) (1, 2, 3)

3033 (3, 2, =1) WOWNPT FBR
BROROR 9

(A) (2,1,0) (B) (3,1,3)
() (1,0,0.5) (D) (2, 1,3)

7. 3N 3 3B 2 ToRReINTEY
BRODTOT & A.B =+/6 R0
- 30Be0mOT ST ZOB A =03 B e
BB EREITRY, oG BOWD.
(A) m/2 B) n
(C) n/4 (D) n/3

e\5<

¥8. X+y<4,x20a3y>0

QuFoEnen 2T Z=3x+4y 3
ﬁ@% wdaozs

(A) 14

(B) 16

(C) 12

(D) BoedS c3nme €9¢)

9. (4,8,10) &%) (6, 10, -8) womorivy

2e00R Sesdody N YZ 80000
egpbﬁ LINOTTO3 cboe% s E]
. (A) 1/3 (B) 2/3
(C) —1/3 (D) —-2/3

10. 2,070 YV mmm &3, 2230300

35003 &)c‘mm@aﬁd 0B AW
Jed mﬁmhd VTR swsd éafqesar
450 B3T3 Qoes3os waa’o &3, wzacrbo
&S50 ©02) 22T 12 &)JG&&U‘

eﬁhdd ) SJEmoa’d WANTSY,
WOTD BRR.C 083808 50% B353,
VT 3353?3 Mmow w&mfé
zssmd Wedodd emcfga

(A) 36 e, (B) 40 o¢.
(C) 25 e, (D) 30 e,
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1. I x+—1—=3, then x3+l3=
X X
(A) 21 (B) 18
(C) 15 (D) 27 v
12. 10*' + 1 is divisible by (nis a natural
number) 5‘/\ &
(C) 19 (D) Xt
\mob\
| 1.3 -5 o
13. LetA={2 -1 5 |.Findthetrace of A.
2 0 1 e
(A) 8 \ (B) 1 "
% yo-\’
{’)M 0.A
C) - (D) -7

14. The area under the curve y = x2
betweenx=0andx=1is

(A) 2/3 (B) 1/4

(C) 173 (D) 1/2
15. Consider the following sets and
identify the odd one out.

(A) C={x:xisaneven prime
number greater than 2}

(B) D={X:x*=4, xis an even
number}

(C) A={X:1<x<2 xis a natural
number}

(D) B={X:X¥-2=0andxisa
rational number}

11.

12.

13.

214,

15.

'“2?7&4) FG
2
x+%=3, Sjlale x3+Xla=
(A) 21 (B) 18 -
(C) 15 (D) 27

1021 4 1@5.3{ QROOT LONTWBIT
(n ADIARIALS zﬁoajas)

(A) 11 (B) 9

(C) 19 (D) 21
1 3 -5

A=l2 -1 5 |swon, Aod
2 0 1

&daas.gt (trace) FoTO&EB0ND.

(A) 8 (B) 1

(C) - (D) -

X=0 3020 Xx =10 I@I y = x2

238, 5¢a30300 S0RTIT QY eedr (o \3/
Wi
(©) 113 ©) 12

33 FENS :3&3971@;3% Gatelatiok) 0B
ROWOT "aequcgﬁi B8R,

(A) C={x:x 202 303 BRTBTT
AT SNARI :30935}

(B) D ={x:x2 =4, x 2000 3
Xoas}

(C) A={x:1<x<2, xuoda‘mm&bﬁ
R0&5 )}

(D) B_{x.x2—2=03333x Q0T
ayaﬁe?% xoa%}
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16. If a and b are both negative
Integers satisfying the equation

b _10a » What is the sum of
(10—a)

maximum values ofaandb ?
- (A) —10 B) 0

(C) —19 (D) -15
17. ltis given that atx =1, the functidn

X*—62x2+ax+9 attains its maximum
value, on the interval [0, 2]. Find the

value of a.
(A) 120 (B) 140
(C) 100 (D) 110
18. If a sequence a,, a, 8, .... is defined

bya,=5a,=8,a . = (a,+1)/(a,_,)
forn = 2, what is the value of

40 ~a,,, ?
(A). 72 (B) 14
(C) 200 (D) 320
19. The magnitude of the vector
6i + 2j + 3k is
(A) 6 (B) 11
(C) 3 (D) 7

20. The owner of a milk store sells
980 litres of milk each week at
Rs. 14/litre and 1220 litres of milk
each week at Rs. 16/litre. Assuming
a linear relationship between selling
price and demand, how many litres
he would sell weekly at Rs. 17/litre ?

(A) 2150 (B) 1330
(C) 2130 (D) 1340
c iR q4° \Q/zﬁz i
A 9 \‘lf
a2, \’%C S :

16.

17.

18.

 (A) 72

19.

FG

a 3 b TR KeWessED

_ 108 o5y sscesenomy adieogs
(10—a) B
@mroﬁﬁ%h@d, a @) b i NoR
TP Ze3 D, 7
(A) —10
(C) —19

(B) 0
(D) -15

o3wen X = 1 8T x* — 62x% + ax + 9
WO [0, 2] wx,ss Sisial] na;%asa@ﬁm&
TBRBNTTE 20T08338 a od DRV TIY,
FOTOEBOWD.
(A) 120

(B) 140
(C) 100

(D) 110~
a,, az, Ay, ODBTOR) 4, =5, a, = 8,
a,,,=(@,+1)(a _,)eHn=2 3

ORAFAOBH 40~ a, .0 SR, ) ?

(B) 14

(C) 200 (D) 320

L amal
T

q{——

SO 6i + 2] + 3k S ToORPES
(A) 6 (B) 11 s
(C) 3 (D) 7

. DOT ONReD BROED T8 0T

980 Oet3o* moabq et 14 dn. R
BB 1220 desso T, Oewso R

16 3. i Inooss TNRRITIT. RNRTEIT
33 R 3BT TBODS Bedeodd
ROWOTTIY 0BT, 55T =008,
DeeITR 17 Tn. 303 DR, Dee3T* RTHL
JINBOTITF 9
(A) 2150

(C) 2130

(B) 1330

(D) 1340
L% 20
(/,a & 2.0

V')_.‘Z,’IL
g
+h

_ag=o
/‘;’/

Yt e
/l :f.‘
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21. The order of the differential equation

d’y |, o dy

—d 3-890 Ois

dx? + dx =
(A) 3 (B) 2
(C) 1 (D) 0

22. Value of sin 417/4 is ‘,
(A) 1/2 (B) 1/4/2
(C) o (D) 1/4

23. The function f glven by f(x) = X2 — x + 1

is on (-1, 1). i

-

(A) Neither strictly decreasing nor °
strictly increasing

: Lo
(B) Constant PR~
(C) Strictly increasing )
| S e
(D) Strictly decreasing ?
2 _ T
24. The value of lim X —* @»ﬂy
x>0 sinx g
(A) O (B) 2
(C) —1 (D) 1

25. IfA={2,3,5,7,11},B={7,11, 13},
C ={13, 15} and D = {17, 19}; find
(AnB)u(BnC)u (D).

(A) {7,9, 11, 15}

(B) {7,11,13,17, 19}

(C) {2,8,5,7,11,13,15,17, 19}
(D) {7,11, 13}

26. Which term of the Arithmetic Progression :

3, 15, 27, 39, .... will be 132 more than its
54" term ?
(A) 64 (B) 67

(C) 66 (D) 65

By ¥/ Tl

W
e i

\

d_32’+3:_y+y 0 202 QB A‘@J@ﬁdmd

B ”/
(A) 3 (B) 2 W

(C) 1 (D) 0 ﬂ///
. sin 41n/4 3 =Pe) Xy 4/5’

(A) 1/2 (B) 1/4/2
(C) 0 (D) 1/4

- f(X) =X — x + 1 208 ReBT f 290wdY

(-1,1)39,
(A) 3ea3,30N FRIOOTPMIFAL,
T $¢33,50N TR, f
(B) AT=Nncogs
(C) 8e=3,zn aé’zsaz;bgd
(D) &e3,m0n 3RB003RMZEs

2

lim X=X 3 59 ) T

" x>0 sinx ) d‘/ e
(A) 0 (B) 2 14
(C) -1 (D) 1

.A={2,3,5,7,11}, B={7, 11, 13},

C={13,15} =03 D = {17, 19} esﬁz:‘szd
(AnB)u (BnC)u (D) 03,
FOBO&EBCWD.

(A) {7,9,:11, 15}

(B) {7,11,13,17, 19}

(C) {2,3,5,7,11,13, 15, 17, 19}

(D) {7,11,13}

. ©0BRe3SE Yne (AP) : 3,15,27,39, ... o

033953 TOEDTY 9833 543e wbai)asaz% o3
132 33 2,008 ?

(A) 64 (B) 67
(C) 66 (D) 65

%\0\\\
u\ok\
,\v\\ \ oo b (CWX



24\ 4
= LA +3 “k 233
ps i 3%
E:?E PE FG
27. If Ais square matrix such that A2 = A, 27. A 2020T0 A% = A &3NTO=03 R £0°
then (I + A)® — 7Ais equal to R, 85,5 BNTT (1 + AP~ 7A 238
RRRTNTOZT
(A) A+l (B) 3A
(A) A+l (B) 3A
(C) A (D) | (C) A (D) I
28. If X is a continuous random variable, 28. X Q00T CINTF B3TNTT
then the probability density function 203=e0303 T0T,3 FoF f(x) B3
f(x) must satisfy g%aﬁ@mg@t 20208368
(A) f(x)=0 for all x (A) @R x MmN f(x)=0
1
(B) The integral of f(x) over the (B) Rompeor Becdod ety m AT
entire range equals 1 QPR 1 § ARPITNZS
0 6 0
(C) f(x) can be negative (C) f(x) 93559 FemNTWTOT A
(D) Both (A) and (B) (D) (A) =02 (B) «0@®
29. The number of ways in which the 29. “MATH” =TT Eﬁﬁpﬂ%‘f?«% @:ow "
letters of the word “MATH” can be DINGE) RReBTITIT) ? o
arranged - Vv
(A) 24 (B) 6 (A) 24 (B) 6 3
(C) 36 (D) 120 (C) 36 (D) 120 =
(
30. Find the mean deviation about the |7 30. S13¥NITRosreRRRF IR SRG, 41—
mean for the following data : DBOTTTY, FORIEROWD N
6,7,10,12,13,4,8,12 6,7,10,12,13, 4,8, 12
(A) 2.25 (B) 2.75 (A) 2.25 (B) 2.75
(C) 3 (D) 3.45 (C) 3 (D) 3.45
31. If a coin is tossed 3 times, the 31. wom msasssgi 30 @;,9033@3;\%5,
probability of getting at least one T, Ry ISR BECIS
. & 0
head is orsecn X
l
(A) 7/8 (B) 1/2 (A) 7/8 ®) 172 I%
(C) 1/8 (D) 1/3 (C) 1/8 (D) 1/3
A
C L -7- '
) 1 ! 1+,
A T HA . BN
H H Al T H T e -
norr 7 I T




VL/(('\//O — )/1/ B f)/y_, 7/
e
™ g
EQE : i// FG
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32. Find the value of x if 2X
32. |2 H_|2* Y emnxs sy om, ,
\24\_2x4 5 1 6 X 3y
51 |6 x
(A) x=%£2 (B) x=+/3
(A) x=+2 (B) x=%./3
(C) x==x2 (D) x=+1 (C) x=x2 (D) x=+1
, 33 3x?
33. Find : 33. 930, FOTOEEOD,
j x® +1 3 I x+1 %
(A) tan™ (cosx?) + C (A) tan' (cosx?) + C
(B) 1 (B) 1
(C) tan" (x3) + C (C) tan™' (x3) + C
(D) tan' (x®) + C (D) tan' (x®) + C
34. log,,A® + log,(1/A%)°5 = x, then x is 34. log,(A® + log,(1/A2)°5 = x, e;mcgd X
D0OTO
(A) 4 (B) 1
(A) 4 (B) 1
(C) O (D) 16 (C) 0 (D) 16
35. What is the multiplicative inverse of 35. modecos ?309325 4 + 3i T MOPTT
the complex number 4 + 3j ? DBRERD BRI 9
(A) i+§.i (B) ﬂ_ﬁi (A) i+§i (B) g_gi
Z ; [ 4 7.7 7 7
(C) —+Zi D) 4_3, 4 3. 4 3
5 C) =+= D) —-=i
36. '_rhe income of a person is Rs. 2,00,000 | 36. 2w 3,803 303 HRTY SRETE),
in the first year and he receives N mw S A
increase of Rs. 10,000 to his income - 2,00,000 3133 300003 19
per year for the next 19 years. What 19 SXRFRYZ3RK o @mojaéﬁ
.zsot;\ez rtso";al amount he received in WHFE 10,000 Te. BeFmorogs-
' 20 SREMPE, eomsdd [T 1832, 50T
(A) Rs. 59,00,000 . ), 9 L
B Lacd A Ll
(B) Rs. 89,00,000 KL (A) ©». 59,00,000
(C) Rs. 79,00,000 g (B) 5. 89,00,000 o
C —0,5"
(D) Rs. 69,00,000 (©) <. 79,00,000 901 000
(D) @r. 69,00,000 SAD
C -8-
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37. If P(A) = 0.6 and P(B) = 0.3, and
A and B are independent events, then

P(ANB)is
(A) 0.9 (B) 0.48
(C) 0.18 (D) 0.3

38. The mean and median of 5 distinct
numbers 3, 6, 9, 10, N are equal.
Find the sum of all possible values

of N.
(A) 30 (B) 40
(C) 23 (D) 26

39. Find the general solution of the

2
differential equation dy _1+y°
dx 1+x°

(A) cos™(y) =tan™'(x) + C
(B) cos'(y) = sin”'(x) + C
(C) tan™(y) = tan~'(x) + C

(D) tan™'(y?) = tan7'(x3) + C

40. If 5 boys and 4 girls have to sit
in a row so that the girls get the
even places; how many such

arrangements are possible ?

(A) 2880 (B) 7390
(C) 2990 (D) 2789
C q )( e ?(q’X 6 ¥ '
“1(31 . '
el

O

37. P(A) = 0.6 3033 P(B) = 0.3 352
A @033 B ®Z0T, DRSNTINTT,
P(A M B) 20208

(A) 0.9 (B) 0.48

(C) 0.18 (D) 0.3

5 o, Ross,nwes 3, 6, 9, 10, N n¢
KOO0 SO TG, 0BT NPV

38.

N 3 o Roys, SRS SRS e Vé
30BI&HBOA0. Muﬂfé .3 B
(A) 30 (B) 40’ 22
(C) 23 (D) 26 F
| dy 14y i
39. oge 3oeads L =Y 3 M
dx 1+X =7
RN, FOTOTHR), F0RBBOD. ¥
e (W
(A) cos'(y) = tan™'(x) + C (L) 3)%\/
-f.—

(B) cos™(y) = sin(x) + C
(C) tan'(y) =tan™'(x) + C

(D) tan-'(y?) = tan'(x?) + C

40.

5 BN =02 4 BOBINCITO LWOT

ITY, BowBoBeYResarson BOBON0IDTO
RO AT, B30T RO, TNROS

BTIFND oy 2

(A) 2880 (B) 7390

(C) 2990 (D) 2789
g ) 3

S
f 6
—
Joe
X
-

h
. "‘S:"—“;

neya=?
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41. Which of the following is a major
port in Karnataka ?
(A) Belekeri Port
(B) New Mangalore Port
(C) Karwar Port
(D) Kundapura Port

42. Which one of the following is an

appropriate description of deflation ?

(A) A persistent fall in the general
price level of goods and
services

(B) Afallin the rate of inflation
over a period of time

(C) A sudden fall in the value of a
currency against other currencies

(D) A persistent recession, in both the
financial and the real sectors of
economy

43. Rickets in children is caused due
to deficiency of

(A) Vitamin C
(B) Vitamin E
(C) Vitamin A
(D) Vitamin D

44. Which of the following will not
enhance nutritional value of food ?

(A) Artificial sweeteners
(B) Amino acids

(C) Minerals

(D) Vitamins

-10-

41. B3 FINSRNTES, TIOF LTI T,5008)

43.

44,

2005300 03RO ?

(A) eSBed 2030

(B) % 00nensd 20TTO
(C) 20398 2003

(D) BO0T)T LOWTD

AT QTWCESCIINT ?

(A) RTBO B Bedne mmsﬂ w33
DOV AT0ZT BRI

(B) 2,00 QDFR, BWHODNY,
aa’tadaz%dd DT3RS

(C) 3T 33N ST 2,00 58&033
@@zsd@i Boos® 333

(D) Seamord e2) §w Swodbny
BRFF300E DT03T 0203

BT, 085" 022000 [TT BRTZ0DH
TRTLI00T QV0ERMRIBES

(A) e300 2
(B) Qw30x g
(C) De30x &
(D) “e30x &

3 SUNIRINYS, o w0
TRYF0TTS PO, TR, BYRDOL, ?
(A) 338 2%5008re)

(B) eaogne SR

(C) Dwnsw

(D) Bemzgrad

FG

. B3 FINTRINTY, 03N HEITOY TS
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45. The book ‘Poverty and Un-British
rule in India’ was written by
(A) Lala Lajpat Roy
(B) Bipin Chandra Pal
(C) Dadabhai Naoroji
(D) Bal Gangadhar Tilak

46. Which one of the following is
considered to have sparked off
the 1857 Revolt ?

(A) Introduction of greased cartridges
for new Enfield rifles

(B) Anti-sati legislation
(C) Annexation of Awadh
(D) All of the above

47. Recently Leopard safari was
inaugurated in which of the
following Zoo of Karnataka ?

(A) Bannerghatta Biological Park,
Bengaluru

(B) Gadag Zoo, Gadag

(C) Sri Chamarajendra Zoological
Gardens (Mysuru Zoo),
Mysuru

(D) Atal Bihari Vajapayee Zoological
Park, Hampi

48. Which of the following statements
is true about NITI Aayog ?

(A) Itis an advisory body to
Government

(B) It allocates funds to the States
(C) Itis a Constitutional body

(D) It is chaired by President of
India

45.

46.
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49. Which country has the highest forest
cover in terms of area ?

(B) China
(D) Canada

(A) Brazil
(C) Russia

50. The International Day of Forests is
celebrated on

(A) 21 March
(B) 21t July
(C) 21% April
(D) 21t June

51. Which of the following is/are
examples of ecosystem services ?
I. Clean air and water
II. Climate regulation

Ill. Recreation and tourism

(A) I only

(B) 1, 1l and II
(C) land Il only
(D) I'and lll only

52. The geographical region, Malenadu
comprises of

(A) Deccan plateau

(B) Northern dry plains of Karnataka

(C) The coastal region

(D) The westemn anq gastern slopes of
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53. Which of the following statements
are true with regard to Akbar ?

I. He abolished Jizya and Pilgrim
Tax.

Il. He built Ibadat Khana for
holding religious discussions.

lll. His Din-i-llahi aimed to unify
various religions.

(A) 1,1 (B) 1,11, 11l

<G L (D) 11, 1

54. The famous Hindustani Classical

Vocalist Gangubai Hanagal hailed
from which state of India ?

(A) Maharashtra
(B) Andhra Pradesh
(C) Tamil Nadu

(D) Karnataka
55. Who prepares the Union Budget in
India ?
(A) Ministry of Finance
(B) NITI Ayog
(C) Reserve Bank of India

(D) Planning Commission

56. Manas National Park is situated in
which State ?
(A) Meghalaya (B) Assam

(C) Maharashtra (D) Punjab
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Which of the following dynasties
was associated with the port town
Kaveripattinam ?

(A) Cholas
(C) Guptas

(B) Pandyas
(D) Cheras

The University of Agricultural Sciences
(UAS), Bangalore organized first of

its kind programme to showcase the
various products developed by the
university in June 2024. The programme
was named as ‘ '

(A) Product Santhe
(B) Mango Mela
(C) Agro Santhe
(D) Horti Santhe

 Consider the following statements
about Annie Besant. Identify the
correct statement(s) :

1. She started the Home Rule
Movement.

2. She was the founder of the
Theosophical Society.

(A) 2 only
(B) Both 1 and 2
(C) 1 only

(D) None of the above

61.

62.!

63.
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64. Which of the following is/are true

regarding Krushi Aranya Protsaha
Yojane of Karnataka ?

a. It was initiated in the year 2015-1g.

b. The scheme aims to promote
farmers and general public to
increase forest and tree cover.

c. The farmers are paid an amount
of Rs. 35 as incentive for every
surviving seedling at the end of

first year.
(A) a,bandc (B) bandc
(C) aandb (D) aandc

65. Who is considered to be the Architect
of the Indian Constitution ?
(A) Rajendra Prasad
(B) Mahatma Gandhiji
(C) Dr. B. R. Ambedkar
(D) Jawaharlal Nehru
66. Which of the following mountain
range has the oldest rocks in India ?
(A) Siwaliks
(B) Western Ghats
(C) Aravallis
(D) Himalayas
67. The Ramsar Convention is an
international treaty for
(A) Conservation of wetlands

(B) Checking ozone layer
depletion

(C) Conservation of wildlife

(D) Control of greenhoyge gas
emission
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68.
69.

70.

71.

72.

The velocity of wind is governed by
(A) Season

(B) Insolation

(C) Earth's rotation

(D) Pressure gradient

How many seats are reserved for the
Scheduled Tribes in the Legislative
Assembly of Karnataka ?

(A) 20 seats (B) 25 seats
(C) 10 seats (D) 15 seats

Which of the following is not an
example of renewable energy ?

(A) Geo-thermal energy
(B) Nuclear energy

(C) Wind energy

(D) Hydro energy

Which of the following places of
Karnataka has a nuclear power
station ?

(A) Kaiga
(C) Yermarus

(B) Mavinahunda
(D) Varahi

Match the following events in the
life of Buddha and the places where
they happened.

a. Birthplace 1. Sarnath

b. Attained 2. Lumbini
enlightenment

c. Delivered first 3. Bodh Gaya

sermon

(A) a=1,b-2,c—-3
(B)a-3,b-1,c-2
(C)a-8,b-2,c-1
(D) a-2,b-3,c—1
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A person climbing a hill tends to
bend forward so as to

(A) Increase speed
(B) Conserve energy
(C) Increase stability
(D) Reduce friction

Who is the Ex-officio Chairman of
Rajya Sabha ?

(A) Vice President

(B) President

(C) Prime Minister

(D) Governor

In the ‘LIFE Movement’ launched by
Prime Minister of India, LiFE stands for
(A) Lifestyle for the Energy

Efficiency
(B) Lifestyle for the Environment

(C) Lifestyle for the Freedom of
Endangered Animals

(D) Lifestyle for the Employment

’6. ‘Nenapina Doniyalli’ is the

77.

\J

autobiography of which famous
poet ?

(A) U. R. Ananthamurthy

(B) Poornachandra Tejaswi

(C) Shivaram Karanth

(D) Kuvempu

The 29" Conference of Parties (CoP)
of the United Nations Framework

Convention of Climate Change took
place at

(A) Doha

(B) Copenhagen
(C) Sharm El Sheik
(D) Baku
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~ Which one of the following is not a
form of precipitation ?
(A) Snowfall (B) Rainfall
(C) Fog (D) Hail
. Which of the following is not a
greenhouse gas ?
(A) Methane
(B) Water vapor
(C) Carbon dioxide
(D) Nitrogen
). Which was the first metal used by
humans ?

(A) Bronze
(C) Copper

(B) Brass
(D) Silver

[. What is meant by ‘Bionics’ ?

(A) Study of relation of an organism
to its environment

(B) Statistical study of biological
systems

(C) Application of mathematics to
the study of living things

(D) Application of the knowledge
of the biological systems to
develop devices or artificial
systems

2. Who conducts the elections to the
Panchayats and Municipalities ?

A) State Election Commission
B) Central Election Commission
C) State Government

(D) Central Government

(
(
(

3. How many Tiger Reserves are there
in Karnataka ?

(A) 4
(C) 5

(B) 7
(D) 6
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84. The Olympic symbol consists of
interlaced rings.
(B) 6
(D) 4

(A) 5

(C) 3
85. The process by which energy is

generated in the sun is

(A) Nuclear fusion of uranium

(B) Nuclear fusion of hydrogen

(C) Nuclear fission of uranium
(D) Nuclear fusion of helium

86. Which Article of the Constitution
makes protection of natural
environment a fundamental duty
of citizens ?

(A) Article 52 A(qg)
(B) Article 51 A(f)
(C) Article 51 A(qg)
(D) Article 51 A(d)

87. Climate types are primarily classified

on the basis of
(A) Longitude
(B) Latitude

(C) Temperature and precipitation
patterns

(D) Water balance

88. The Sannati stupa is located in
which of the following Districts ?

(A) Mysore

(B) Chitradurga
(C) Kalaburgi
(D) Yadgiri
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Green Credit Rules, 2023 have been
framed under which of the following
Acts ?

(A) The Indian Forest Act, 1927

(B) Environment (Protection) Act,
1986

(C) Energy Conservation Act,
2001

(D) Karnataka Forest Act, 1963
Which of the following are
predominantly seasonal winds ?
(A) Cyclonic winds
(B) Monsoon winds
(C) Prevailing winds
(D) Descending winds

In DGPS Survey, DGPS stands for

(A) Differential Global Positioning
System

(B) Derived Global Positioning System

(C) Derived Ground Positioning
System

(D) Differential Ground Positioning
System

The Chennakeshava temple at Belur
is an example of which school of

architecture ?

(A) Vijayanagara School
(B) Solanki School

(C) Hoysala School

(D) Nayaka School

Who is considered ‘The Guardian of
the Public Purse’ ?
(A) Public Accounts Committee

(B) The President

(C) Parliament
(D) Comptrollerand Auditor General
of India

89.

90.
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94. The Institute of Wood Science and

Technology (IWST) under ICFRE is
located at

(A) Chennai
(B) Hyderabad
(C) Mysuru
(D) Bengaluru

95. About M-STrIPES system
launched by NTCA, which of the
following statement/s is/are true ?

a. M-STrIPES stands for

Monitoring System for Tigers
— Intensive Protection and
Ecological Status.

b. It was created to help wildlife

managers conduct efficient
patrols.

(A) Bothaandb
(B) Neitheranorb
(C) Only a

(D) Only b

96. As per the Article 79 ofthe Constitution
of India, Parliament for the Union
shall consist of following

a. The President

b. The Council of States (Rajya
Sabha)

c. The House of the People (Lok
Sabha)

(A) Onlyaandb
(B) Onlybandc
(C) Only a

(D) All of the above
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97.

98.

99.

100.

The Great Bath belonging to
Harappan Civilization is found in -

(A) Mohenjodaro

(B) Ropar
(C) Kalibangan
(D) Harappa

Which of the following organizations
conducts survey and assessment of
forest resources in the country ?

(A) Indian Council of Forestry
Research and Education

(B) Forest Survey of India
(C) Wildlife Institute of India

(D) Institute of Wood Science and
Technology

Which of the following is an example
of physical change ?

(A) Burning of coal

(B) Souring of cream

(C) Rusting of iron

(D) Freezing of water

Which of the following statement/s
is/are correct ?

1. Yakshagana is a popular art
form of the state of Karnataka.

2. A typical Yakshagana
performance consists of two

parties namely the mummela
and the himmela.

(A) 2 only

(B) Both 1 and 2

(C) 1 only

(D) None of the above
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